W Mr. Smith had 4 daughters and every daughter had 4

brothers. How many kids does Mr. Smith have?

Mr Smith had 4 daughters and every
daughter had 4 brothers. How many
Children does Mr Smith have?

A 4

B.6

C.38

D. Zero (0)

If Mr Smith had 4 daughters

In past, then presently he has no kids i.e

D. Zero is the RIGHT Answer
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Here, it is said that Mr. Smith had in the past four daughters, then what is the
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WAT o Mr. Smith had 4 daughters and every daughter had 4

brothers. How many kids does Mr. Smith have?
number of his kids in the present moment.

He had kids in the past, however, currently, no one knows how many children he
might have now. Therefore, in such a case no answer which is not given here or
Zero suits well here.
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